D000 D000 (0ooa)
20000 90 10 40 0000 9, 10, 19, 200
0000 oo 10000000a0

010 (100)

000,00000000000000000000000000000000000 1000 (K,G,S,T,N,H,M,Y,R,W) 00O
000O0.00000 (1)-(10)00000,0000000000000000.

020 (150)

gboooboobobooboobobobooboboobooboobooboboobooboboobOoboobobboboobon
o0o100000000D000D0OO

030 (150)

0000000000000000000000000000000000000000000000000000000000
0000000000000 0000000000000000000000000000000000000000 (300000
0)0

040 (150)
000000000 (ae) 000000,

Unix0O00O0D0O0O0OODOO0OOOO0ODOO0ODOOO,000D (file)0D0D00O00OODOODOUOODOODOODOOOOO
0000000000000 00000 D00000 (directory) D00DOO0OO0O0OD O(DD)00DDOD ODOOD
goooboboooboboobo

gooobooboobooo (a) (make directory) 0000000000000 DOOOOOODOO

(a) sub1l
00000o0DsublODO0O0OOO0ODODODOOOOO

0000000000000 00000o0o00o0o000000D0O00000000D00O0000dssublOOOO0O
O sub-childOOOOOOOOOOOOOOOOOOOOODOOOO

| @ || ® |
0000000000 000D0o00000oDooDoo00n0 HappytxtOOOOOODOOOOOOO

echo ’I am happy.’ > subl/sub-child/Happy.txt

0000000000000 0000D000000 1 0000000000000 00000D00O0000 (Tree)OO
goo0ooOoOoOoOoOoOoOOO0OOOO0OOO0OUOOOO0OOO0OOOUOOUOOLDDOOD UnixDOOODOOODOOOO
0000000000000 (root directory) 0 00O

0000000000000 D0000D0 D00D0000D0000 (current directory) 00 OO cd(change directory)
ggooobobooooobobboooobbboooobbboooobbbooo



cd subl

0000000000000 Happy.txt OO (c) ooooodoooooooooon

cat (c)
goooooooooooooooobooooooo

000000000000 000000000000000000 0000000000 (path)DOO0ODOOOOODO
0200000000000000

cd /tmp

(a) subl

(a) sub2
echo ’I am happy.’ > subl/happy.txt
cd sub2

doododoodo 20000000 100000000000 DLOO0ODO0D0ODLDOD0DODODOO0DDbDODOODOO
cat (d)

gooboooooboobooooao

cat (e)

0oo0oo0o0ooo
050 (200)

00000 1000000000000000D0000000DO (0D O)DDOO (0O kjmz)DDDDDDDDD Statis 000
(Dooooooo)O

Hokkaido Sapporo 5692321 83452
Aomori Aomori 1481663 9606
Ivate Morioka 1419505 15278
(0oo)

Oita Oita 1231306 6337

Miyazaki Miyazaki 1175819 7734
Kagoshima Kagoshima 1794224 9186
Okinawa Naha 1273440 2266

0000 grep 0000000000000000000000D0D (0000D0000000000000000000000
0)0

1. 0000000O0ooooooN
2. 0000000000000O000O0O00O0OOOOOO0 S
3.400000000

4. 0005000000 10000000

O)egrep 0000000 DOOODOOODOOOO

e 00010000000000D0
e 00000000D0000D0O0O0DO0DO[0D00]0000 0000 "[acion)’ 000000000000000
e 0000000O0D0O0D[0D-00]00000000 ”[0-9” 00000000 ”7[0123456789]” 0000

e 0000000000000 D0D00 000000000 " 00000000 "ee® O e, ee, eee, ecee, ...
oooo ” [0-9][0-9*” 000000000



e 10000 DDODODUDUDUUOOD KkODDD MmOODDODOOO "\{k,m\} 00000000 kOOOO
0O7"\{x\}> 0oOoQ

e 0000 7’0000 7$ 0000
060 (150)
000000000 (a-c)000000.

000 Javal0O0OO0O0ODOOOOOOOODODODODODOO Exam6.java 000 O0O0O0O0OOOOOO

class Exam6{
static void bar(int len){
if (len==0)
System.out.println();
elseq{
System.out.print ("*");
bar(len-1);

}

public static void main(String[] args){
int i;
for(i=1;i<5;i++) bar(i);
for(i=2;i<5;i++) bar(i);

for(i=3;i<5;i++) bar(i);

(-

gooooobooooobobbooooooboooooobo
(a)

0000000000 00oDoooo00n0 Examb.class 000000000000 0O0OCO0O0O0OOOO
(b)

0ooooooooooobboooon

(c)
goooooooooooooao

070 (100)

000D0000000000000 PPM OOOOOOOO0O0O0O0000O0000O0000O000000000O0000O00
0(1)-(8) 00000000000

class Exam7{
public static void main(String[] args){
int width=32, height=32;
System.out.println("P3 "+width+" "+height+" 255");

int i,j;



for(i=0;i<height;i=i+1){
for (j=0; j<width;j=j+1){
double d=Math.sqrt((i-20)*(i-20)+(j-16)*(j-16));
if (Math.abs(d-8.0)<1.0)
System.out.println("255 255 255");
else
System.out.println("0 0 0");

(5) (6) (7) (8)

0)

e Mathsqrt — 0000000000
e Math.abs - 0000000000



